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x| mn| BR | m |eR | me | e | w2 |aR | wee| 20| 5

1 NFo x 2H -1 50 x 2H -1 50

2 2] ¢ Jra] 4S = -420 [ri] 4S +3 -510

3 panyiic] x 38 -2 200 x 28 -1 100

4 =] x 5C -1 100 [ri] 5D = -600 12

5 |mdb] db 3cC -1 | 100 | it 2C -1 | -100

6 panyiic] [£3] 3NT +1 430 [£3] 6D -2 -100 11

7 Wa Jra] 38 -1 100 1t ANT -1 -100 5

8 NTo [£3] 3H -1 -50 [ri] 28 -1 50

9 pamyiis] x 2S +2 170 x 2S = -110

10 | WA x 2H = -110 x 2H = -110

11 | XFEG x 5H = -450 x 4S = -420 1

12 | FEit [£3] 3NT +1 630 [ri] ANT -3 150 10
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1 NFo [£3] 3C = 110 x 2H -1 50 2
2 2] ¢ Jra] 4S +3 -510 x 4S +3 -510
3 panyiic] x 2S -1 100 x 2NT -1 100
4 =] Jri] 5D = -600 x 4S = -620 1
5 2] ¢ Jra] 2S -2 100 [£3] 2H -1 -100 5
6 panyiic] 5| 3NT +2 460 it 3NT +2 460
7 Wa o= 38 = -140 [£3] 5Dx -3 -800 12
8 NTo Jra] 2S -1 50 [£3] 3H -2 -100 4
9 pamyiis] Jri] 3NT -2 200 x 4S -2 200
10 | WA x ANT = -90 x ANT = -90
11 | XFEG x 3NT +2 -460 x 6H -2 100 11
12 | FEit [£3] 2H +2 170 [£3] 3NT +1 630 10
DATUMit B
I METHR BRIk Y. 5+ 24 | 21
XA/ B 5 EX/MADLT 4 Aait 24 | 21
R/ Re B -4, ﬁﬁﬁ‘é)’ﬁ/ M= -5 V.P. 11.05 | 8.95
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1 NFo A |3NTxx| = -800 [£3] 3C = 110 14
2 2] ¢ Jra] 4S +3 -510 [ri] 3NT +1 -430 2
3 panyiic] Jra] 2NT -1 100 x 28 -1 100
4 =] Jri] 5C -1 100 [ri] 5D = -600 12
5 2] ¢ Jra] 2S -2 100 [£3] 2H -1 -100 5
6 panyiic] 5| 3NT +2 460 [£3] 3NT +2 460
7 Wa Jra] 38 = -140 x 4S -2 200 8
8 NTo [£3] 3H -1 -50 [£3] 3NTx | -2 -300
9 pamyiis] Jri] 3NT -1 100 x 2S +1 -140
10 | WA Jra] 3NT -1 100 x ANT = -90
11 | XFEG x 3NT +3 -490 [ra] 6D = -920 10
12 | FEit [£3] 3H = 140 [£3] 2H +3 200 2
DATUMit B

I'&¥8 FlLiES Y. 3+ 44 | 26
K2/ 4 gE/EE 45| @it | e | 2
EEE/ZRE 15 BIEFETI NI S -1 V.P. 15.15 | 4.85
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1 NFo Jri] 2NT -1 50 [£3] 3C = 110 2
2 mdt Jra] 4S = -420 [ri] 4S = -420
3 panyiic] 1t 3D -1 -50 x 38 = -140 3
4 =] Jri] 5C +1 -620 [ri] 5D = -600 1
5 2] ¢ Jra] 2S -2 100 [ra] 2S = -110 5
6 panyiic] 5| 3NT +2 460 it 3NT +1 430
7 Wa [£3] 3D -1 -100 [ri] 3S = -140 1
8 NTo Jra] 2S -1 50 [ri] 28 -2 100
9 pamyiis] x 2S +1 -140 x 28 -1 100
10 | WA Jra] ANT = -90 x ANT = -90
11 | XFEG x 3NT +3 -490 [ra] 6D -1 50 11
12 | FiL 1t 3H -1 -100 [£3] 4H -1 -100
DATUMit B
[E3RpA) Iz Y. 5+ 10 | 22
BB /Bt -14 DIRIE /ST 1 Aait 10 | 22
SRFBAE/EE -1 M VES NS 14 V.P. 6.29 | 13.71
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x| mn| BR | m |eR | me | e | w2 |aR | wee| 20| 5
1 NFo Jri] 3NTx | -2 300 [ra] 2NT -1 50 6
2 mdt Jra] 4S = -420 [ri] 4S = -420
3 panyiic] x 2S -1 100 x 2NT -1 100
4 =] Jri] 5C -1 100 [ri] 6D = 1370 16
5 2] ¢ x ANT = -90 [ra] 2S -1 50 4
6 panyiic] [£3] 3NT +1 430 [£3] 3NT +1 430
7 Wa [£3] 3D -1 -100 x 28 = -110
8 NTo Jra] 38 -2 100 [ri] 28 -2 100
9 pamyiis] x 2S +2 170 x ANT +3 -180
10 | WA x 2H = -110 [£3] ANT -1 -100
11 | XFEG Jri] 6D -1 50 x 6NT -1 50
12 | FiL 1t 4H = 620 [£3] 3NT +1 630
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